Weekly Homework





Name ____________________________________

Tuesday, March 12

1.                                                             
2.                      2.









 4.



4.  


3.
List the factors for 14 and 21.           14= ___________________________ 21   = _______________________
The GCF for 14 and 21is ________.    When would you use this information? ________________________

Wednesday, March 13

1.                                                                              

2.                                                                              





3.                                                                                                   4.
4.
If n =(, then 4 x n = _________         


 If n =( , then 4÷n =___________    
Weekly Homework





Name ____________________________________
Thursday, March 14
1.
3.



4.  

Evaluate:  70 – [6(13-5)] ÷ 4 = ________                   6² = __________      61 = ___________     60 = __________


Using a coordinate grid.
Directions:  

   1.  Label the x and y axis.

   2.  Label the origin, 0.  The x axis increases by intervals of 1 and the y axis increases by intervals of 4.  Label these.
   3.  Title the x axis – Hours Worked and the y axis – Dollars Earned

   4.  Use your completed grid to solve the problem in the box and complete the function table.


                                       











Solve for n.  n x 23 = 8.05        n= _______














Solve for p.     	p÷ 3.8 = 16     p = _______


	








Find the product of ( and (.    _______




















Find the quotient for 6/8 ÷ 1/2.   _______








Jessica made 27 bows to sell at the Grayson Spring Festival.  She used 7/8 of a yard of ribbon for each of the bows.  How many yards of ribbon did she use in making the bows?


Find the answer using two different strategies.


        Strategy 1			         Strategy 2


























Draw a model for:  3/4 ÷ 1/8.


 (1/8 is the divisor.  Asking, “How many 1/8s are in 3/4?”)











The yellow container holds 2/3 less liquid than the blue container.  The blue container holds 15 gallons.  How much does the yellow container hold? 


Use two different strategies to find the answer.


Strategy 1			Strategy 2














Write 5( as an improper fraction. ____________








Write 3(2 as a fraction.  ___________








Write 22/4 as a mixed number.  ______ or _______








1 Chinese Yuan = 0.175 US dollars


Complete the chart using the exchange rate above.





Chinese Yuan�
US $�
�
10�
�
�
100�
�
�
1000�
�
�
10,000�
�
�
100,000�
�
�






Solve for m.                                   Solve for w.


10/12•m = 1                         (÷w = 1















































2.  Jesus spent 4( hours on his homework last weekend.  Vincent spent 2 ( hours on his homework.  How much longer did Jesus spend on homework than Vincent?











Use the grid to show a model of:  .1 x .6= _____
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What is the value of the expression:





6x + 10 if x = 7.3?  __________

















In the equation y = 4x – 2, what is the value of y 


if x has the value of 3²? __________








Complete the following using mental math.








25x.1 = ______	25( .1 = _______


25x .01 = _______	25( .01 = ______


25x .001 = _______     25( .001 = _____


What do you notice?





For every hour Clayton works, he earns $4.  How much money will he earned after:





2 hours  ______   	4 hours________





6 hours_______	8 hours _______








What mathematical observations can be made from your coordinate grid?
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x�
y�
�
2�
�
�
4�
�
�
6�
�
�
8�
�
�









Rule:  y = ________








